B.Sc. EXAMINATION:T
SEMESTER-II -~

PAPER NO.: M-202 ANALYTIC GEOMETRY CODE NO:3114

TIME:2:30 HOURS
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INSTRUCTIONS(1)ALL QUESTIONS ARE COMPULSORY.
(2)EACH QUESTION CARRY EQUAL MARKS.
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TOTAL MARKS:70
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ENGLISH VERSION
Prove that the line of intersection of intersection of the tangent planes to the
sphere x’+y2422 = 4 at the points of its intersection with the st.line {(3+k,
—1-k, 0)} lies on the plane 3x—-y 4,

Prove that the sphere x +y 42" +4x+2y 59 = 0; x° +y +7' = 8x+6y—67+9 = 0
intersect each other and intersection circle lies on the plane 6x—2y+3z-34 =0
OR

Verify that spheres x*+ y*+2°+2x+8y+4z+19 = 0 and
X“+y*+2°+8x+10y+67+41 = 0 are orthogonal spheres or not?
Discuss: the intersection of sphere and plane in R®
Obtaine the equation of the sphere passing through the circle
X+y'+z’ —3x—2y+47+8 = 0; y + 7 —2x = 8 and having its centre on the plane
dy —z —5x=3
Find the equation of the sphere passing through the circle
2+ y? 4z +2x+4y—22=3; x+vy+2z=4 and touching the plane -
4x + 3z = 14.

OR
Obtain the condition that plane Ix + my + nz =p touches
the sphere x*+y*+z* = a® and point of their contact
If the plane kx 4+ y — 2z = 121 touches the sphere
x? +y?+z? =121 find the value of k
Find the equation of cone havinﬁr vertex at origin and passing through the curve
2x°+3y>+52%= 1 and 2x+y—3z =
Find the equation of enve!opmg cone of sphere x*+y*+z +2ux+2vy+2wz +d=0
having the vertex at origin.

OR
Obtain condition that the locus represented by homogeneous equatian
ax’+by?+cz2+2hxy+2fyz-+ 2gzx = O is right circular cone.
Obtain the equation of cylinder having generator parallel to st. line
x-x _y-B _ z7y
1w Ta
Find the equation of cone and its axis,passing through the st.lines having

directions (1,2,2},(2,3,6), and(3,4,12).

If the axis of the right circular cylinder passing through (4,—5, 3) is parallel to
X-axis and passes through (5, —2,6) then find the equation of the right circular
cylinder.

and guiding curve ax’+tby’=1;2=0

OR .
lfthe guiding curve of the cylinder whose generator is parallel to z-axis is

x*+y? +2xy —2x+4y =0;2=0 then find the equation of cylinder.
Obtain equation ofughtcnculal cylinder having axis x-o y- B _zvy & radiusr

T m
Obtain condition that the plane Ix + my + nz = p touches the parabolmd

by? + cz? = 4ax and point of their contact.

Find the equation of tangent planes to the conicoid 4x*—5y*+7z°+13 = 0 which

x-3 _y-5 _2—10
S0 T o
OR

Define ellipsoid and discuss its property.

Define one sheet hyperboloid and gives its properties.

are perpendicular to the st. line — and their points of contact.
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